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TUB-121 160 mm PVC S-25

Q=1.50 L/s V=0.71 m/s T=1.97 Pa

TUB-119 160 mm PVC S-25

Q=3.66 L/s V=0.59 m/s T=1.11 Pa

TUB-102 200 mm PVC S-25

Q=1.50 L/s V=0.61 m/s T=1.47 Pa

TUB-156 200 mm PVC S-25

Q=8.93 L/s V=1.50 m/s T=7.16 Pa

TUB-105 200 mm PVC S-25
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Q=8.67 L/s V=0.70 m/s T=1.35 Pa
TUB-180 200 mm PVC S-25
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Q=1.50 L/s V=0.63 m/s T=1.52 Pa

TUB-04 160 mm PVC S-25
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TUB-188 160 mm PVC S-25

Q=1.50 L/s V=0.92 m/s T=3.40 Pa

TUB-185 160 mm PVC S-25

Q=1.50 L/s V=0.58 m/s T=1.27 Pa

TUB-122 200 mm PVC S-25

Q=1.50 L/s V=1.32 m/s T=7.72 Pa
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Q=8.66 L/s V=0.62 m/s T=1.03 Pa
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Q=1.93 L/s V=1.00 m/s T=4.06 Pa

TUB-17 200 mm PVC S-25

Q=7.63 L/s V=0.74 m/s T=1.56 Pa

TUB-47 200 mm PVC S-25

Q=7.33 L/s V=2.02 m/s T=14.53 Pa
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TUB-99 200 mm PVC S-25

Q=1.50 L/s V=0.73 m/s T=2.10 Pa

TUB-96 160 mm PVC S-25

Q=1.50 L/s V=0.81 m/s T=2.67 Pa

TUB-128 200 mm PVC S-25

Q=1.50 L/s V=0.98 m/s T=4.06 Pa

TUB-129 200 mm PVC S-25
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